

$\int_0^x \frac{t^n dt}{e^t - 1}$ x
 $(a-b)^2 = a^2 - 2ab + b^2$ $ax^2 + bx + c = 0$ $\operatorname{tg} \alpha = \frac{\sin \alpha}{\cos \alpha}$
 $\sin^2 \alpha + \cos^2 \alpha = 1$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $\sin^2 \alpha$
 $(a-b)^2 = a^2 - 2ab + b^2$ $\operatorname{tg} \alpha = \frac{\sin \alpha}{\cos \alpha}$ $(a-b)^2 = a^2 - 2ab + b^2$
 $\int_0^x \frac{t^n dt}{e^t - 1}$ $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ $\sin^2 \alpha + \cos^2 \alpha = 1$
 $(a-b)^2 = a^2 - 2ab + b^2$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ $\operatorname{tg} \alpha = \frac{\sin \alpha}{\cos \alpha}$ $(a+b)(a-b) = a^2 - b^2$
 $S^2 \alpha = 1$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $ax^2 + bx + c = 0$ $\sin^2 \alpha + \cos^2 \alpha = 1$
 $\pm \frac{\sqrt{b^2 - 4ac}}{2a}$ $(a-b)^2 = a^2 - 2ab + b^2$ $\operatorname{tg} \alpha = \frac{\sin \alpha}{\cos \alpha}$ $(a+b)(a-b) = a^2 - b^2$
 $\alpha = 1$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $ax^2 + bx + c = 0$ $\sin^2 \alpha + \cos^2 \alpha = 1$ $\int_0^x \frac{t^n dt}{e^t - 1}$
 $t = a^2 - 2ab + b^2$ $\operatorname{tg} \alpha = \frac{\sin \alpha}{\cos \alpha}$ $(a-b)^2 = a^2 - 2ab + b^2$
 $-2ab + b^2$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ $\sin^2 \alpha + \cos^2 \alpha = 1$ $\int_0^x \frac{t^n dt}{e^t - 1}$
 $\sin^2 \alpha + \cos^2 \alpha = 1$ $(a-b)^2 = a^2 - 2ab + b^2$ $\operatorname{tg} \alpha = \frac{\sin \alpha}{\cos \alpha}$ $(a+b)(a-b) = a^2 - b^2$
 $= \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $ax^2 + bx + c = 0$ $\sin^2 \alpha + \cos^2 \alpha = 1$ $\int_0^x \frac{t^n dt}{e^t - 1}$
 $\alpha + b)(a-b) = a^2 - b^2$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$ $\sin^2 \alpha + \cos^2 \alpha = 1$ $\int_0^x \frac{t^n dt}{e^t - 1}$
 $a^2 - 2ab + b^2$ $\operatorname{tg} \alpha = \frac{\sin \alpha}{\cos \alpha}$ $(a-b)^2 = a^2 - 2ab + b^2$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $x = -t$
 $\sin^2 \alpha + \cos^2 \alpha = 1$ $(a-b)^2 = a^2 - 2ab + b^2$ $\int_0^x \frac{t^n dt}{e^t - 1}$ $x = -t$